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e Please check that this question paper contains 7 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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qraT= 3397 :

() I B T GEI22 § |

(i) ¥o7 G 1-7 % 3T TY-ITIT F97 & | IAF Jo7 F1 1 3% & | 579 @
T J97 HT I 40 J55] & 37fer H7 787 g1 15T |

(iii) 97 GCIT 8 - 13 T TY-IH1T J97 & | % J97 & 3 3% & | 79 & T9%
J97 &7 I 80 — 100 531 G 3¢/ &7 787 817 =T |

(iv) 57 &I 14 - 20 TF H9-3709 J97 & | % o7 & 5 37 & | 370 @ J9%
97 HT I 150 1T @ 37 &7 787 ST T0ET |

(v) I G&IT 21 - 22 HEIE] W 13T TT iTmifcies 8Tl i yEEE I et o
TG FTHIHT HH G GIFlIT 8 | Iodh Jo7 F 5 F & |

(vi) AR 3K YR & 17U 77 IGT-FrfE] H1 377+ FTH-Ji&aw] & @i 8 7avd
ga Ffae |

(vii) GT-FHET T3 & fore @it a1 et & 9T @1 37t & ardt 8 |

(viii) @Yt 357 3art & 1

General Instructions :

(i) There are 22 general questions.

(it)  Questions No. 1 - 7 are very short-answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iii) Questions No. 8 — 13 are short-answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 — 100 words.

(iv)  Questions No. 14 — 20 are long-answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

(v) Questions No. 21 - 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vi)  Outline maps of the World and India provided to you must be attached
within your answer-book.

(vii) Use of templates or stencils for drawing outline maps is allowed.

(viii) All questions are compulsory.
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A 1 2001 I FHUET o AR T afeqai i fohegl g fomansti &
WW| £+i=1

2 2

Mention any two characteristics of urban settlements as per the census of
India 2001.

AR & TR % &9 § foshfid g9 & Tq@ I 90 6l S HiT | 1

Explain the prime motive force in the development of Modinagar as a
town.

YR © T Tl b1 IunT fohe Tehw TR ST Feha B 2 1

How can the satellite images be used ?

TR SEE # gig S Bt 7 ? 1

How does urban population grow ?

‘TG B SHEEAr € 9= 9T © ? 1

What is the meaning of ‘ageing population’ ?

Tar o foredl < wewil o A ferfae St dwgor sefed 2 | é+i=1
2

Name any two regions where gathering is practised in the world.

TOR & Ty H Hgmni fohg ad 8 2 1

What are highways in the world context ?

foee TaTeex WiTeA & GIATEl hl 318 H Th Eo®y T shl AT HIT | 3

Explain a “Healthy City” in the light of suggestions made by World
Health Organisation.

‘A foramatt <l o9 Tdd g |7 i A9 380N TR 39 HIYF I A—HETd
3V | 3xI1=3

“The imprints of human activities are created everywhere.” Justify this
statement by giving any three examples.
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10. 37 ufifeufaat <t saren Hifse S ara 7 T gga s § | 3x1=3

Explain the conditions that make an urban agglomeration in India.

11.  “faor@ 6l HehoUdl i had Tk & deh & HIfHd T8 W S bl |7
-9 Hod Taeht™ i 38 FehedT i Fad-9I9viiy foehE H 9¢a &hd & ? T8

HIT | 3

“The concept of development cannot be restricted to the economic sphere
alone.” What values can convert this concept of development into
sustainable development ? Explain.

12. YRd § - 9 wEd ®qU T ? TS H Uh-UH fORINAT AT
£||\3Q| 3x1=3

Which are the three cropping seasons in India ? Explain one
characteristic of each.

13.  y-frefertor ford whed € 2 G O et Y ST wfskanett 1 Serewen afed

ST <hINT | 1+2=3
What is land degradation ? Explain the two processes with examples that
degrade land in India.

14. Tl AEIE-30-8% o AR “OHa foshrg” it uftamn foafew | Aa foee’ &
TR IYTTHI <hl ST hifST | 1+4=5

Define the term “Human Development” according to Dr. Mahbub-ul-Hagq.
Explain the four approaches to ‘Human Development’.

15. WA & fomiy dey 4 b fause (fefvea fearge) it samen s | 5

Explain the digital divide with special reference to India.

16. e for8 had § 2 GUR H YA o fehegl =X STRYUN <hl ST 380N digd
T | 1+4=5

What is tourism ? Explain any four tourist attractions in the world with
examples.

17. TOR H AqUEE SR o a4t Tg@ urai MEri St e Hife | 5x1=5

Explain all the five major bases of international trade in the world.
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18.

19.

20.

21.

64/2/3

T H HHE [ § Traf-ad ey e o @l hl SATE1 HiT | 5x1=5
Explain indicators of ‘healthy life’ related to human development in
India.

Al R IR o o9 ot TIE HIfNT | S UeHl bl SFaUEE SR %
JAY-gR T el ATl 8 ? T HIT | 2+43=5
Distinguish between ports and harbours. Why are sea ports known as
gateways of international trade ? Explain.

I N hl Tehegl i FaeaTdt FHETSTi ohl T8 T | 5x1=5

Explain any five common problems of Indian agriculture.

TR % fou T Ui @amtEE (98 9 W) °, 99 @89 A, B, C, D 3R E
% g fe@me u § | g el w1 e € T8 SHeRrt sl FErEaT | ugEeY 3R

3T TEl AT Ik ke it ME et W fafen 5x1=5
A T SiEnfie T

B. oWl &1 Af<H TIE

C. TU® Y@ gAE-U<H

D. U Y@ HHgI-U<H

E. U am T

In the given political outline map (on page 9) of the World, five features
have been shown by A, B, C, D and E. Identify these features with the
help of the information given below and write their correct names on the

lines drawn near them :

A. An industrial region

A terminal station of railway

C. A major airport
D. A major sea port
E. A mega city
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Fie:  [Aeliea 397 Faq giEETET gt & g, ye7 aem 21 & wIH
WE:
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :
(21.1) 3T iRt o forelt sienfires gew o1 am fafee |
(21.2) UR-GTSEREA Yot & foret srfcm v w1 9 forfaw |
(21.3) STl o fopet Weh TR a1 9 forRaw S&f v Aty gamg-ua fea
2|
(21.4) cferor 3rshieht & fopell Tt oo st T foAfm |

(21.5) SUSHRET & A & 1 am fafgw | 5x1=5

(21.1) Name any industrial region of North America.

(21.2) Name any terminal station of Trans-Siberian Railway.

(21.3) Name any city of Brazil where an International Airport is
located.

(21.4) Name any sea-port of South Africa.
(21.5) Name the mega city of Indonesia.

22. WRA o [CU T oHITdh W@I-AMET (I8 11 V) H, fefafea S feafd 3ogw
gt @ fe@msu 3t 37 Tm fafaw . 5x1=5
(i) g8 ATk SEEAT o Tcd a1l TS (2001)
(i)  HThC I GEY FS1 IAGH TT
(iii) W YW T I eIk HRGHT

(iv) TSI | HIRAIT SIS Teh

(v) W g § S i @ @H

On the given political outline map (on page 11) of India, locate and label
the following with appropriate symbols :

) The state having the highest density of population (2001)
(i) The leading groundnut producer state

(iii) An oil refinery in Uttar Pradesh

(iv) A software technology park in Rajasthan

(v) A major coal mine in Tamil Nadu
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Note :

64/2/3

FHefeTiaa o7 Fae gieamiaa qhemdal & g, 397 &1 22 & T |

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

(22.1)

(22.2)
(22.3)
(22.4)

(22.5)

TR o Hag 314eh SHEEAT ¥ca a1l TS ol AW fAfaw (2001) |

YA | HThel! 1 T8 T IcUTEh U DT 8 ?

I Y o b TIM W dd e SR ferq g 2

TSI o 38 R w1 91 fIfgu a7 arreazi St 9k feoa ® |

qfHe A1g T IS 6l Ig@ @H &1 a1 faRa | 5x1=5

Name the state of India having the highest density of population
(2001).

Which is the leading groundnut producer state of India ?
In which place of Uttar Pradesh is an oil refinery located ?

Name the city of Gujarat where a software technology park is
located.

Name the major coal mine in Tamil Nadu.

7 P.T.O.






For question no. 21

I F. 21 % foag
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I E. 22 % fow For question no. 22

U T {T-AHR (TS TR )
Outline Map of India (Political)
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